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Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C322401 Date:14-06-2017
Subject Name: BASIC ELECTRONIC CIRCUITS
Time: 10.30AM TO 12.00PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U8l i [aseul,
A semiconductor is formed by ........ bonds
1. | A. | covalent B. | electrovalent
C. | co-ordinate D. | none of the above
Alsssez .......... uls &l wa B.
LA | sldeR B. |dgdseldde
C. |sl-alslee D. [y &l A5 ygl sl
Semiconductor has ........ temperature coefficient of resistance.
2. | A. | positive B. ZETO
C. | negative none of the above
Aul55522 Ul AR\ oll .......dIUHIs] 31 A5 el
. |A [ull»elg B. | [l
C. |l D. |l el s ygl el
The most commonly used semiconductor is ........
3. | A. | germanium B. | Silicon
C. | carbon D. | Sulphur
Hl2l UHISL 1L GULdL UL lddl Alssser ........ 3.
3. |A [ oisilay B. [ [dlslel
C. |slols D. [yes
A semiconductor has generally ........ valence electrons.
4. |A. |2 B. |3
C. |6 D. |4
AYl55522 HiHI2L I ...... ddy yaselel el
¥. |A. | R B. |3
C. |g D. |¥%
The resistivity of pure silicon is about ........
5. |A. | 100 Qcm B. [6000Q cm
C. |3x10°Q cm D. | 1.6x10°Q cm
ler [Udls)el oil MY SL............. S\,
€A [ 100Qcm B. [ 6000 Q cm
. | 3x10°Q cm D. | 1.6x10° Q cm
When a pure semiconductor is heated, its resistance ........
6. | A. | goesup B. [ goes down
C. | remains the same D. | cannot say
¢ %ql'e‘. gLt AU155522 o M 52cH] 2414 AR dell Ad....
- [A [0 [B. Juz
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| dedl o 28 |D. | seletlasi
When a pentavalent impurity is added to a pure semiconductor, it becomes ........
7. A. | an insulator B. | an intrinsic semiconductor
C. | p-type semiconductor D. | n-type semiconductor
ol 13 Al55522 Ul Yel dde wgLed] GRaH] w1d AR d ...l
9. [A |oHwdeR B. |oelals Aulssse:
C. |ul ey Alssser D. |3 219y AHlE5522
A pentavalent impurity has ........ valence electrons.
8. [A [3 B. |5
C. |4 D. |6
deldde sl ui ... dds3 A s2lel Sl
¢. |[A |3 B. |u
C. |x¥ D. |¢
A trivalent impurity has ........ valence electrons.
9. [A [4 B. |5
C. |6 D. [3
2l9dde sl ui ... dq=1 9452l S\,
¢c. |A |¥ B. |y
C. |g D. |3
Addition of trivalent impurity to a semiconductor creates many ........
10. | A. | holes B. | free electrons
C. | valence electrons D. | bound electrons
A155522 Ui 210 dee wgex] GRRAIME 211 AR AUl ..... W),
0. [A. [ &d B. | 5l 84s2lel
C. | 44+ 9dselel D. | pdsele ulls
A hole in a semiconductor is defined as ........
1 A. | afree electron B. | the incomplete part of an electron pair
- bond
C. | afree proton D. | afree neutron
Aulssse Higld o ... (v ld 5212
Q9. £ sAsglot B. |84dselel %5l «ll 24421 e119l
C. | slulelel D. | sl ey2lel
In a semiconductor, current conduction is due ........
12. | A. | only to holes B. | only to free electrons
C. | to holes and free electrons D. | none of the above
Q55522 Ui 522 of ASo......... oll 5128 &Y,
®R. [A |8 B. | sl 9ds2lel
C. | sl e gl pasel D. | 3nie]l 25 ugl «sl.
A forward biased pn junction has a resistance of the ........
13. | A. | order of Q B. |orderofk Q
C. |orderof M Q D. | none of the above
§1245 6l 144 Yol ¥ 50lel Hi dell WY ........... Sly.
3. |A. | Q Ul B. |kQ Ul
C. [MQHl D. | 2piell 215 ygl ol
The barrier voltage at a pn junction for germanium is about ........
14. [A. J35V B. [3V
C. | zero D. [03V
ogtof[2AY o1l Yl2lol 5210l ol Gl2]UR ey ...... S,
¥. |A. [35V B. |3V
C. | [ D. [03V
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The leakage current across a pn junction is due to ........
15. | A. | minority carriers B. | majority carriers
C. | junction capacitance D. | none of the above
Aot ofsalot Hi {3 522 ............. oll 5120 8l
W [A | aeildd 3dlee B. [ ¥ox1212l 32lur
C. | sl Suilen D. | el As ygt «el.
With forward bias to a pn junction, the width of depletion layer ........
16. | A. | decreases B. | increases
C. | remains the same D. | none of the above
o) 13 Ulw)el % 59lol ol §124S GLIAY UM 211d d) deil 3191t AR il uslulls...
Q5. |A. | He B. |qd
C. | druila:8 D. | el 205 yul sl
A diode has ........
17. | A. | one pn junction B. | two pn junctions
C. | three pn junctions D. | none of the above
SIS ............ % 52Ul S,
. [A. | s ylale B. |a] ylale
C. [ AR ulade D. | wieil A5 ygl el
The forward voltage drop across a silicon diode is about ........
18. |A. |25V B. [3V
C. |10V D. |07V
Ridl5)et ol §12dS dle2os S ... 1Y
. |A. |25V B. |3V
C. |10V D. |07V
An ideal diode is one which behaves as a perfect ........ when forward biased.
19. | A. | conductor B. | insulator
C. res1stance material D. | none of the above
As 162l SIALS U3 81245 Gl €ld AR...d2l3 ad.
1e. [A | 55522 B. | 942
C. [ 21d31us D. [ auiell 215 uwl «1sl.
If the temperature of a diode increases, then leakage current ........
20. | A. | remains the same B. | decreases
C. | increases D. | becomes zero
of| SIALS of llUMlel gt dl dsll 4130 532.....
0. |A. | duilos @ B. |de
C. |d8 D. |g-ualy
The knee voltage of a diode is approximately equal to ........
21. | A. | applied voltage . | breakdown voltage
C. | forward voltage D. | barrier potential
SIS ol of] dle2os vig1Wd........... ogdl &ly.
1. [ A | U] dlew B. | dls SIGel dlex
C. | slka$ dle D. | dAR qle
A zener diode has ........
22. | A. | one pn junction B. | two pn junctions
C. | three pn junctions D. | none of the above
Dol SIS o ...... 85001 Sl
R. | A [ s Ul B. |dl ylale
C. [ AR lade D. | el s yul el
23 A zener diode is used as ........
] | an amplifier | B. | a voltage regulator
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C. | arectifier D. | a multi-vibrator
Dol SIALS o1l GUALL .......d23 2.

3. [A. | AndlsiuR B. | dle2oy 3yder
C. [3slslur D. || dlpaler
A zener diode is always .......... connected.

24. | A. | reverse B forward
C. | either reverse or forward D. | none of the above
Dol stalls edal ... HL oslsLa

Y. [A. | kad B. [ §1295
C. | Ray wadl sl2as D. | ayuiel 28 yBl «lel.
zener diode utilizes ........ characteristic for its operation.

25. | A, | forward B. | reverse
C. | both forward and reverse D. | none of the above
Dol SIALS Aell S HIR ........ UL o) GUALIL 53,

U, | A | slRaSwiyd B. | Rad wlyy
C. | Rad 21 §12aS wa D. [ quiell 215 yil «isl,

In the breakdown region, a zener diode behaves like a ......... SOrce.

26. | A. | constant voltage B. | constant current
C. | constant resistance D. | none of the above
W5SLGol WA Hl Dol SIALS ......... A dzl3 ad.

5. | A | 51222 dlegy B. |5l 522
C. | sikeéeudy D. [ Hiell 215 ywl «isl,

A zener diode is destroyed if it ........

27. | A. | is forward biased B is reverse biased
C. | carries more than rated current D. | none of the above
Dol SIALS o119l UH 2Ll d......

9. |A. [ sldS wluy &Y B. |zlad alyy ey
C. |eHdl 5dldy 522 4 IR D. | yiel 215 ygl «tsl.
The disadvantage of a half-wave rectifier is that the ........

28. | A. | components are expensive B. | diodes must have a higher power rating
C. | output is difficult to filter D. | none of the above
©ls dd 3s2lsld «1l A2 sluel 4.8,

R¢. | A | s1lee el B. | s1als o ulaz 32lo1 ay elq ol
C. |Gy al [se22 53 wed | D. | wuiell 25 usl «1el.
The ripple factor of a half-wave rectifier is ........

29. [A. |2 B. [1.21
C. [25 D. | 048
61§ dd 3s2lsU -1l 2lud 3522 ....eld

Re. [A. |2 B. [1.21
C. |25 D. |0.48
There is a need of transformer for ........

30. | A. | half-wave rectifier B. | centre-tap full-wave rectifier
C. br1dge full-wave rectifier D. | none of the above
21512 ofl 22 ... HI uS.

30. [A [ sls dg3sdlslar B. [d222u sq dd IselslaR
C. | [oies ga da 3selsiaR D. | aiyiel s ywl el
The PIV rating of each diode in a bridge rectifier is ........ that of the equivalent center-

31 tap rectifier.

" | A. | one-half B. | the same as
C. | twice D. | four times
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[Gios 3521 1UR «ll €38 SIALS of PIV 32101 ) Al Ausel U2 2u selslU «ll.....
3q os24, 1.
Tl AL | sl B. |4y
C. |wug| D. | YRy
If the PIV rating of a diode is exceeded, ........
32. | A. | the diode conducts poorly B. | the diode is destroyed
C. | the diode behaves as zener diode | D. | none of the above
of| SIULS of PIV 22[9L atil o dl,...........
32. | A | SIYLS He udls désl 52 B. | slylsslleluli
C. | Pel2 SIS dl3 ad D. |2 uiel 215 ygl «el.
The maximum efficiency of a half-wave rectifier is ...........
33. [A. [40.6% B. [81.2%
C. |50% D. |25%
&les dd 35215142 ofl HedH s1letHdl.... 1.
33. [A. [40.6% B. [81.2%
C. [50% D. |25%
A pn junction that radiates energy as light instead of as heat is called a
34. |A. |LED B. | photo-diode
C. | photocell D. | Zener diode
A g Yl2et F50lel 5 8 Us12 GIwld 52 Gl A wied de).... 5841
3%. |A. |LED B. | slelslyls
C. |sleldd D. | Bel? SIALS
The capacitance of a varactor diode increases when reverse voltage across it
35. | A. | decreases B. | increases
C. | breaks down D. | stores charge
dRs2? stalls oll 3UAleu afl ¥ 2R Aol o dle........
3. A e B. |dd
C. |4Qs SIGel D. | Y@ Ul
To display the digit 8 in a seven-segment indicator
36. | A. | C must be lighted B. | G must be off
C. | F mustbe on D. | All segments must be lighted
Adet JYoxe [Sud Hi wls ustleld sl HI2...........
35. [A. | C usllald Sldl ¥l B. |G uit &ldl w\lsA
C. | F g sldl %1Hul D. | w9 @1l ustlold Sldl slp.
A photo-diode is normally
37 A. | forward-biased B. | reverse-biased
C. | Neither forward nor reverse D. | Emitting light
biased
AHL YLl 5121 SIS .......81Y
30. [A. | slkaSuuy B. | Radwiay
C. | Ray w4 51248 Wl «lel D. |usllold sl
The device associated with voltage-controlled capacitance is a
38. |A. |LED B. | photo-diode
C. | varactor diode D. | Zener diode
dleoy 52165 Sl Au18l sudd [salpy o ollH ........... .
3c. |[A [ Rapgd] B. | slel siuls
C. | diser SIS D. | Bel? SIALS
When the light increases, the reverse current in a photo-diode
39. | A. | increases B. | decreases
C is unaffected D. | none of the above
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oRl13 U519l dtl AU §12) SIALS o1l R 5292 ......
3¢. |A |add B. |t
C. |olluedly D. | yie]l 215 ygl =il
To display the digit 0 in a seven segment-display
40 A. | A must be lighted B. | F must be off
" | €. | G mustbe on D. | all segments except G should be
lighted
Adst Aoyde [sud Ui et usileld sdal Hle.....
¥0. |A. | A usield eldl xlg B. | F uiy sldlslol.
C. |G Ulg sldl %yA D. |G R« usifed eldl e,
A single stage transistor amplifier contains ............ and associated circuitry.
41. | A. | two transistors B. | one transistor
C. | three transistors D. | none of the above
1214 2iloser Andlsia vi............. el Aol A9 ASle 1.
¥1. [A Q2R B. |5 2ilwer
C. |aAw1eil»wer D. | yieil 215 ygl otel,
The phase difference between the output and input voltages of a CE amplifieris .........
42. [A. |180° B. [0°
C. [90° D. |270°
AUlG AN 5142 il Helye viel B1G2YR2 A€ il 38 dsldd....... S
¥2. [A. [180° B. [0°
C. |90° D. | 270°
It is generally desired that a transistor should have ....... input impedance.
43. | A. |low B. | verylow
C. | high D. | very high
UM AL 21322 U ... He1y2 Bnilsy Sl
¥3. [A. | 318 B. | €] »{169]
C. |ay D. | 4ullay
When an a.c. signal is applied to an amplifier, the operating point moves along ........
44. | A. | d.c. load line B. a.c. load line
C. | both d.c. and a.c. load lines D. | none of the above
o) (3 W3l g 2nglsia? o wWiudidi w11 AR wWuIhl Ulse.. d2s o,
¥¥. | A | skl dls dlpel B. |23l 4l alel
C. [shilwaaildlsalpadwgd | D. | auiell 215 ul «isl.
In the zero signal conditions, a transistor sees ......... load.
45. | A. |dc B. |a.c.
C. | bothd.c. and a.c D. | none of the above
[»2] Riad seslelet di eilonred ... qls Sl
. [ A | Sl B. | a3l
C. | Slafl 24al 2120l wal D. |2 4iell 215 ygl «tel,
The point of intersection of d.c. and a.c. load lines is called .......
46. | A. | saturation point B. | cut off point
C. | operating point D. | none of the above
SIRil 2401 2024] 41 @186l ol H2RASUA ........... 5&d13.
¥S. | A | Ay3glel UlHe B. | 52-u{l§ ulde
C. | wlulse D. | el 215 yi| «sl.
The purpose of capacitors in a transistor amplifieristo ...........
47. | A. | protect the transistor B. | cool the transistor
C. | couple or bypass a.c. component | D. | provide biasing
‘s 8[[56%8% Anglsla Hi 3Ule o sRAl ....... o 8.
" 1A | 2ll»R o Yl slel [B. | 2iloer a 431 21uidl
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|2l A sua 3 U sal [ D, | ei{lar 2ial
In practice, the voltage gain of an amplifier is expressed ........
48. | A. | as volts B. | as a number
C. |indb D. | none of the above
UL YOl AN §14R oll e el ....... H1 E1A
¥¢. | A | dle B. |0
C. |slail D. | el s yul del.
If the power and current gains of a transistor amplifier are 16500 and 100 respectively,
49 then voltage gain is ........
" | A | 165 B. | 165 x10*
C. | 100 D. | none of the above
% 213222 WNElSIUR o1l UldR el 532 A8l 98U e) Y00 E1Y dl, e
xe el .21,
" [A. T165 B. |165x10*
C. | 100 D. [ quiell 215 yil ol
In a CE amplifier, the phase difference between voltage across collector load RC and
50 signal voltage is .....
" [A. [ 180° B. [270°
C. [90° D. [0°
CE WnE]§1A2 Ui 54522 €1S RC ol [MUe qle2oy qedl 32 dsldd.... Sl
wo. [ A. [180° B. |270°
C. [90° D. [0°
The purpose of d.c. conditions in a transistor is to ........
51. | A. | reverse bias the emitter B. | forward bias the collector
C. | set up operating point D. | none of the above
2l»22 ui sl &5l2let of 51291 ........52ql],
e, [ A [ ayleR A 2lad wiay B. | 58522 ol 51295 014 52dls]
C. [ uwueliulse de D. | wyyiel] 215 yil «isl.
The ratio of output to input impedance of a CE amplifier is ........
52, | A. | about 1 B. |low
C. | high D. | moderate
CE A1e5 142 i1 211Gy &l 9elye 1ilsu ) ...\,
. | A | 19edl B. | »{1¥l
C. |qy D. | yeyy
The output power of a transistor amplifier is more than the input power because the
53 additional power is supplied by ........
" | A. | transistor B. | biasing circuit
C. | collector supply VCC D. | none of the above
2i[»222 Yludls1uR o1l 21G2Y2 Uld? e1ye UldR 52dl du R €14 B 51231 3
QHRLe U3 ....... GRLUA .
u3. .
A | 2ll»er B. |l arsle
C. | 5452 AWId VCC D. |2 4iefl 215 ygl =il
A transistor converts ........
54 A. | d.c. power into a.c. power B. | a.c. power into d.c. power
" | C. | high resistance into low D. | none of the above
resistance
2U»W2 o Hioied,
wy. [A. | sl ulaR o a2l ular B. |23l ula2 a skl ular
C. | dy wdy Hiell vl wdy | D. | wqyiel] 215 uil «isl.
For highest power gain, one would use ....... configuration.
55. [A. [ cC B. |CB
C. |CE D. | none of the above
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Y ULdR dgel HIS ... A1 dlud] 8.
yu. | A | CC B. CB
C. |CE D. | uHiell 215 uwl «isl,
CC configuration is used for impedance matching because its ............
56. | A. | input impedance is very high B. | input impedance is low
C. | output impedance is very low D. | none of the above
CC AUl 9|5t DAL HIZ dU1Y B 512815 dell...........
us. |A. | gelye snilsu asilay sl | B. | geiye onilsa w16l ely
C. |au1Geye pnilsy aell 218l | D. | auiel As ul =&l
When negative voltage feedback is applied to an amplifier, its voltage gain ............
57. | A. | isincreased B. is reduced
C. | remains the same D. | none of the above
Ang g2 ui owlR A2l slsuls w1yl dl dell qleos Age.....
9. |A. | ay B. |t
C. |eluedl D. | wyuieil 215 ugl el
In an unregulated power supply, if load current increases, the output voltage ...........
58. | A. | remains the same B. | decreases
C. | increases D. | none of the above
el 30YAR2S UldR AW Y UL %) €S 522 d8 dl 1162y dle%........
e, [ A | Al 28 B. |t
C. |qq D. | yiell 215 ygl «tsl.
In an unregulated power supply, if input a.c. voltage increases, the output voltage ........
59. | A. | increases B. | decreases
C. | remains the same D. | none of the above
ye. | A B.
C. D. | yieil 215 ygl stsl.
A zener diodeisused as a ............ voltage regulating device.
60. |A. | shunt B. | series
C. | series-shunt D. | none of the above
Dol SIS.......... dleoy 39Ya2lol [salpd dl3 Ul
50. |A. |2l B. |l
C. | Rik»-2ie D. | 2 yiell 215 ugl el
As the junction temperature increases, the voltage breakdown point for zener
61 mechanism............
" | A. | isincreased B is decreased
C. | remains the same D. | none of the above
%) % 521l dLlUMlel A8l dl, el UL oll 6l5S1Gel Ule2....
sq. |A. | dy B. |42
C. |eluedly D. | el 25 ugl el
Thermal runaway occurs when ........
62. | A. | collector is reverse biased B. | transistor is not biased
C. | emitter is forward biased D. | junction capacitance is high
o 2o1-21q UL RIS ...
s2. | A | sdse Rad ollu ey B. | 2llsmer ulld Hi sl €l
C. | abler slkas wlluy Sl D. | 959l 3URile dy Sl
As the junction temperature increases, the voltage breakdown point for avalanche
63 mechanism ............
" | A. | remains the same B. | decreases
C. | increases D. | none of the above
% %% 5RUe1 dlUHlel 9B dl, R4y M3 (el UIR o1l 615516 Ulge2...
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o3 A | ARl e B. |He
Bk D. | uyieil 25 ugl el
Zener diodes are generally made of ............
64. | A. | germanium B. | silicon
C. | carbon D. | none of the above
Dol SIALS ol ML UBL ....... Hiell wellagiil 2419 D.
s¥. [A. |ogilay B. | [udlslel
C. | slule D. | 3Hiefl 25 ugl «isl.
For increasing the voltage rating, zeners are connected in............
65. | A. | parallel B. | series-parallel
C. | series D. | none of the above
cleos 3210l AU RAL HIS Pol2 o ....... Hi lsdl Ao,
su. | A | ddid? B. | [dl- dHid?
C. | [yl D. | uiell 215 ygl stsl.
For faithful amplification by a transistor circuit, the value of VCE should ........ for
66 silicon transistor.
" | A. | notfallbelow 1V B. | be zero
C. |be02V D. | none of the above
2Pre? urfle ol Aol Anell§l3aet 12 ,Rilasle 2ilser UL VCE «il
oo | [5Hd..El.
A [ qdle o] 2 9] o] B. |9
C. |odle2 D. | wyuieil 25 ugl el
An ideal value of stability factor is ........
67. |A. ] 100 B. [200
C. | more than 200 D |1
uildle] ¥ser ol wleel [5Hd ... €ld
g9, | A 900 B. Y00
C. | Q00 57l dy D. |4
The operating point in transistor is also called the ........
68. | A. | cut off point B. | quiescent point
C. | saturation point D. | none of the above
2@ vl ulpe oa......... usL 58413,
SC. [A. |52 uls Ulpe B. | [sd9ie ulpe
C. | AR« WHe D. |2 4iefl 215 ygl «el,
For proper amplification by a transistor circuit, the operating point should be located
6o, | of the D.C. load line,
" | A. | the end point B. | middle
C. | the maximum current point D. | none of the above
222 wle ol aloel Al fldatet 12 | UL Ul o SL{l. €ls dlge
ce. [Hl.... U &ldlolon
A | ud B. | qey|
C. | HEdH 522 %ALY D. | uyiell 215 ugl el
The disadvantage of voltage divider bias is that it has ........
70. | A. | high stability factor B. low base current
C. | many resistors none of the above
cleos [SALYS Gl oIl AR§1UE]L aa .............. ]
90. | A | ay 0ild]l] 3se2 B. |31yl 6l 522
C. | €8l 292\ D. | auiefl 25 ugl «isl.
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